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(12% = H10%)

4R JMNAMEIES E5RFE9 HS 40% 0|4, 3ZRE|S| B 30% OlAt, 4572 o|Ate|
2 20% o|Ato| === MASIAHLL Relol EfYHF S 52| 1.28] o|Ato|ofof SiC},
X5t 9 Holul 2 S22 HAln FE o] Us vl ZH O ABA | 25 olEZ[Z)ol| st 2
I = EfUFHFE A Aol ZESHX| L=C}.
<E1> gl R A AW/ m)
29| =i =2 A A5 5 55 = Sd
g s=2H
256 329 340 211 138 243 336 325
EIPN=
<HE2> FH N™EY ABEAUL EjUAFSE
Tgxiekel =&Zol(P) /
TR M SRS =t = A =AM 5 855 = =AY
77EX[ 2] Z0[(H)
0.0 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
0.2 0.57 0.74 0.79 0.79 0.89 0.78 0.79 0.73
0.4 0.48 0.55 0.63 0.64 0.83 0.64 0.63 0.54
0.6 0.45 0.42 0.51 0.54 0.79 0.54 0.50 0.42
0.8 0.43 0.35 0.42 0.48 0.76 0.48 0.42 0.36
1.0 0.41 0.33 0.36 0.43 0.73 0.43 0.37 0.33
<E3> A IHY oEXiete EIAPFEE
+x|xfoko] EZZ0[(P) /
FHAYOIM FARZxe | = | =d | M| 5M L 5 | 58 | & | 8¢
Zol(w)
0.0 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
0.2 0.73 0.84 0.88 0.76 0.68 0.79 0.89 0.82
0.4 0.61 0.72 0.79 0.61 0.56 0.64 0.80 0.67
0.6 0.54 0.60 0.74 0.46 0.47 0.50 0.75 0.54
0.8 0.50 0.51 0.70 0.38 0.42 0.42 0.71 0.46
1.0 0.45 0.43 0.65 0.28 0.34 0.31 0.66 0.39
<E4> JlsE Xekol MR x|of M2 EjYEFEE
wElo| 2o Mx| 72|t FalAtolol] A x| 72| WHol Mx|
0.34 0.5 0.88




(12% = H11%)

<E5> f2lo] ERY HULFES U I MEDLS
7257 elo HYEFSE 2 AP Faig
6mm 12mm 16mm
3715 Ef kA THAEM Ef 2+ TN M Ef F A TN &M
358 Sng 3S8 Sg #SE Sg
bR 0.717 0.789 0.719 0.789 0.719 0.789
= eldtgel[+ot=2 2 0.718 0.789 0.720 0.789 0.720 0.789
e 20|/ 0.577 0.783 0.581 0.783 0.583 0.783
20| Fel+ot2 & 0.579 0.783 0.583 0.783 0.584 0.783
LR 0.631 0.707 0.633 0.707 0.634 0.707
JUEs dutre[+ot= 2 0.633 0.707 0.634 0.707 0.635 0.707
2o|wre| 0.526 0.700 0.520 0.700 0.518 0.700
20| Fel+ot2H 0.523 0.700 0.517 0.700 0.515 0.700
e 0.563 0.637 0.565 0.637 0.565 0.637
A= LEtFe|+otE 2 0.564 0.637 0.565 0.637 0.566 0.637
20| 7 0.484 0.629 0.474 0.629 0.471 0.629
20| Fel+ot2 & 0.479 0.629 0.468 0.629 0.466 0.629
F7) els7H4d| = oS0t ZHo| ALttt
ls7tAd] = (MHFo fIx|e tHegFsTtel olAXHz|) / (HEgsel =0])
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7t) E= chk2Ee A 2 BEE2 2olsto A 2 BE20| 25 UEE o siEudEsS ge = Ut
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